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QUESTION 1

Identify the two capabilities that the Application Development Framework Desktop Integration (ADFDI) framework
provides for Work Definitions in Manufacturing Cloud. 

A. You can mass create and update work definitions and their operations, items, and resources. 

B. You can mass create and update work definitions and their operations, items only and cannot add resources in work
definitions. 

C. You can mass create and update work definitions and their operations only and cannot add items and resources in
work definitions. 

D. You can copy work definitions form one organization to another organization. 

Correct Answer: AD 

 

QUESTION 2

You want to use a predefined Standard Operation in a Work Definition, but you also want to change the usage of the
Standard Operation resource. Identify the setup required. 

A. Deselect the Referenced check box while adding the standard operation to the work definition and change the usage
manually. 

B. Select the Referenced check box while adding the standard operation to the work definition and change the usage
manually. 

C. Use the Transfer and Edit Standard Operation functionality to edit the resource usage. 

D. Use a Resource exception for the resource and alter its usage. 

Correct Answer: B 

 

QUESTION 3

Your Customer has implemented Oracle Cloud Manufacturing and the Manufacturing user is in the process of defining
Work Definition and Operations. However, this user is unable to assign an ad hoc item, Grease, to an operation. 

Identify the reason. 

A. The user doesn\\'t have Override Item Structure Components in the Work Definition privileges. 

B. An item cannot be assigned on an ad hoc basis. 

C. The user doesn\\'t have access to the PIM module. 

D. The user doesn\\'t have Data access to create item structure. 

Correct Answer: B 
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QUESTION 4

A Production Supervisor queries a Work Order (WO-1025) from the manage Work Orders page. On the Entering Edit
Work Order: WO-1025 page, he finds General Information, Operations and History tab, but not the Reservations tab. 

Identify the two reasons that can cause the Reservations tab not to be displayed. 

A. Work Order (WO-1025) is not a Configured item Work Order. 

B. Work Order (WO-1025) is not a Back-to-Back Work Order. 

C. Work Order (WO-1025) is not a Drop-Ship Work Order. 

D. Work Order (WO-1025) is not a Pick-to-order Work Order. 

E. Work Order (WO-1025) is not a Plan-to-produce Work Order. 

Correct Answer: AC 

 

QUESTION 5

A customer has a distribution warehouse (DW) for After Sales and Service and an in-house manufacturing plant (MP).
Sales orders are created and shipped from DW. 

Identify the two Sourcing Rules that need to be set for order promising to schedule the order. 

A. Define Local sourcing rule for organization MP: Source Type Make At, Source MP 

B. Define Local sourcing rule for organization DW: Source Type Make From, Source MP 

C. Define Local sourcing rule for organization MP: Source Type Transfer To, Source DW 

D. Define Local sourcing rule for organization DW: Source Type Transfer From, Source MP 

Correct Answer: AD 
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